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A photographer wants to take some pictures of a musical band so that every
member of the band is in at least one of the pictures. The band is considered as an mxn
(n—0) array of dots in the plane, whose coordinates are positive integers. The
positions at which the photographer takes pictures are called shooting spots. The
shooting spots are restricted to the origin and the positive integral points of the x-axis
and the y-axis. Since some members of the band will be blocked in view by others, the
photographer needs to choose several shooting spots to see all of the members. A dot B
is visible from a shooting spot 4 if there is no other dots in the line segment between A
and B. Our purpose is to determine the least number of shooting spots that can see all

of the dots in the mxn array.

More shooting spots are required as the array gets large. It needs a theoretic

method to construct a minimal set of shooting spots.

In this report, for the mxn arrays (1 <m < 100, n—o0), we give a construction of
the minimal set of shooting spots. Moreover, our results are better than the previously
known results under the condition that one shooting spot is on the y-axis.. This method

can be generalized to three-dimensional arrays.
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